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Solving Linear Systems by 
Elimination (2)

Ex. 1  Solve by elimination.
3x ­ 4y = 14
3x + 7y = ­8

Ex. 2  Solve by elimination.
3x + 2y = 28
5x ­ 3y = 15

Neither addition or subtraction 
will eliminate a variable.

When this happens,  we use multiplication to 
write a system of equivalent equations that will 
result in a variable being eliminated by addition or 
subtraction.
3x + 2y = 28
5x ­ 3y = 15
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Ex. 3  Solve using elimination.

­2x + 5y = 3
 3x  ­  y  = 2
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Ex. 4  Solve using elimination.

Homework:  Pg. 217 #3 all, 4 (a,c,d)

Partner up and solve the last question on the 
white boards!

 4x + 5y = 7
 2x  ­ 3y = 9

Click to see the solution


	Page 1: Jan 31-1:25 PM
	Page 2: Jan 31-1:36 PM
	Page 3: Nov 20-12:32 PM

